Code No. 23
Total No. of Questions : 42 ] [ Total No. of Printed Pages : 7

March, 2009
LOGIC

( Kannada and English Versions )

Time : 3 Hours 15 Minutes ] [ Max. Marks : 100

( Kannada Version )
ZpE : BND, BB, Tone NOBBZ NS R0Z,030TY, 7 N TTRDA.
[ 83N ooy IFNRen w8 oA ¢ 10 x 1 =10
1) OI/NST Q0TTed ?
2) OONTIHT VIINTT NOTTIERD ?
3) R0BW 3BT Q0TTERD ?
4)  TTTLRRIET SHIORTY, B9
5) TIOFHI03T AWOREN NOTITERD ?
6) VRNETT QWSR3 B S5e0NnTRy BROA.
7)) T0mESREN Q0mTeRd ?
8)  ANVT Q0TTeRd ?

9) ﬁ%é 33,3 FBTIEZTIT ?

10) QB 20TTed ?
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I 2 3eNT InERETR R, FFNON 2.0050R TH8,RAeE. w3 0% ¢ 10 x 2 = 20

11) LT BW,OF / B3N QTT 0T3S ?

12) TR TIRWR,EITE BRCRIY, ST

13) AOTBCRET DBZTITZONTY, E9A.

14) T388 / m,57008 Fodeen=wy, 893,

15) 50600 BORREIE, 3 ©F,00%, S9R.

16) o83, / WITITD 3,3y, SYA.

17) $CS1T0 / 520356 2308 YUBEYRVCONTY, &9A.

18) =TS / AQEFTH Q0TI ?

19) 7,320 B350 HOTTEDD ?

20) BERBTTORHRY, 2R

21) JIBIFONT ATIES / BT,08 Q0T ?

22) QFIRTT / wm@oémd DOT3Be ?
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B3 BINTRINYE), CSRR)TITTR Fow,d, 10-15 a8,RSE). €37,69 LaTOWD :

23)

24)

25)

26)

27)

28)

4 x5=20
RN, Meome / BOTREE BBOINRT

SHNRRE B3,

R, 23008 QOBBTCANE LOTOSREMNLD

ROTD,ROBWITT YOBO30T, 3

V0T3S FFoO FoOLSE,

3ew | OmdF, TG

B3 BINTRINYE), CINRYTIT0R TR, SFERBRLRNSTY BOdDA LT[0

29)

30)

31)

32)

33)

34)

4 x5 =20

33,300, BRARTIOIRY,. HITS BT VT, BITOIME.

2, BRZNINL AT ToDo ToSeLNLO Ted “aselesd.

Joned WBOBITB. NBord TP GOIO, TRCdTAN EIONEL TG,
83,39, BORTOZ BReE3 631

PRBOT ), WOMONERY, SEODTMRRLY,. NBOTT &y TeRINe

IoGalaliiive s piavial

BOZWFE DTWIBR[Y  BRXRLY AT 7 A WD, TN B3,

RN, FHRECRATE.

TTO23) TOTBET. NF0TT VT3 T0LRDT Tozy) SRCTZLTIT.
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Iv.

A) B SSNRIYNEE). CHRTIETH SOTE, LI 0N :

35) F@RT FORPLTITRTY, A0, T 550N QTOA.

36) WA WO FTO TOLBZ,RTY, WR0A.

37) OTBYRCD YBCIRNANTT, S9A.

B) 83 39NIRYNYE), CIRFemTR .0T8, L0Z 0 :

38) WX, CO0SNRILTRTIE / NS TR, W:OAR.

39) Ro0INE, ©F,0H-3,8068 AFITTTY, HTO.

85 S9N CERTTITTL SR IBNRER SOON

40) =D, ©FeT FPAR,NINR T, 00 BROCIPRLIQ T, 2328 A0

41) FRRWE S WLTRT TLIQ,T/RY, HREFA.

42) FDHRTTOWT 303, QAFTCAELBOI Wi, W3R,

2x5=10
1x10=10
2x5=10
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( English Version )

Note : Write the main question and sub-question numbers clearly.

Answer all the questions : 10x 1 =10

1. What is an inference ?

2. What is improper induction ?

3. What is probability ?

4. What is the basis of analogy ?

5. What is condition of cause ?

6. Name the material grounds of induction.

7. What is mal-observation ?

8. Whatis alaw ?

9. Who advocated Dvaita Philosophy ?

10. What is explanation ?

Answer any ten of the following questions in one or two sentences each :

10 x 2 = 20
11. What is colligation of fact ?

12. State the fallacy of hasty generalization.
13. State uniformity of co-existence.
14. What is natural experiment ?

15. State the quantitative aspect of causation.
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III.

16.

17.

18.

19.

20.

21.

22.

State plurality of causation.

Define working hypothesis.

What is subsumption ?

What is axiom ?

State the fallacy of argumentum ad misericordium.
What is crucial instance ?

State the theory of evolution.

Write short notes on any four of the following in 10 — 15 sentences

each : 4 x5 =20
23. Perfect induction.

24. Problem of induction.

25. Uses of scientific instruments.

26. Uses of analogy.

27. Aristotole’s view of causation.

28. The method of residues.

Test and explain the validity of any four of the following arguments :

4 x5=20

29. Untouchability cannot be condemned because it was

recommended by Manu.

30. Our hospitals also must have vacations like schools and

colleges.

31. As I travel in the train I see the trees at a distance running in

the opposite direction and I infer trees move.
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32. Storms and famines cannot be prevented, for they are due to

the anger of Gods.

33. Who are you to condemn inter-caste marriage, who being a

brahmin have married a vaisya girl ?
34. Glass is transparent because we can see through it.

IV. A) Answer any two of the following questions : 2x5=10

35. Describe briefly the scientific attitude.
36. Explain J.S. Mill's view of cause.
37. State the uses of hypothesis.

B) Answer any one of the following questions : 1x10=10
38. Explain Emperical theory/Mill’s theory.
39. Explain the Joint method of agreement and difference.
V. Answer any two of the following questions : 2x5=10
40. Education is the cure for most of our problems. Discuss.
41. Discuss the impact of science on society.

42. Discuss about superstition and rationality.
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